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Topic:- CDP_P2_CTET

" Which of the following is an example of gross motor skill ?

(1) Sketching

(2) Holding a needle

(3) Walking fast

(4) Putting beads in a thread

Frefafad § 9 -9 e THF SIe! L § 2

(1) feseAm

(2) e ghEAl

(3) O =

(4) 1 H =il o

[Question ID = 1][Question Description = S24_CDP_Q001]
. 1 [Option ID = 1]

2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 “Proximo - distal principle of development suggests that development proceeds from :

(1) Complex to Simple
(2) Head to Toe

(3) Center to Extremes
(4) General to Specific

farerTe 1 'S fasT ST § T Ty forg i @ fpe a0 sl 22

(1) wifed § w9
(2) fRE®
(3) FEIT™

(4) wmEE ¥ fafre

[Question ID = 2][Question Description = S24_CDP_Q002]

1
2
3.
4

. 1 [Option ID = 5]
. 2 [Option ID = 6]
3 [Option ID = 7]
. 4 [Option ID = 8]



" Which of the following are secondary agencies of socialisation ?

(i)  School

(ii) Books

(iii) Media

(iv) Parents

(1 () @)

@ () @), (@v)
(3) (@) (i), (iv)
(4) @), (@), ()

f=fafed 5 9 -89 gersies & fgdas s 82

(i) faeme™
(ii) feraral
(iii) wifen

(iv) wrr-foar
(1) (@), @)

(2) @, @), @iv)
(3) (@), (iid), (iv)

(4) (1), (i), (i)

1[.Q:1?;;it?or:] |||; :9:;][Question Description = $24_CDP_Q003]
2. 2 [Option ID = 10]

3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)

According to Jean Piaget ‘s theory of Cogniﬁve development, at which stage, most children
can ‘operate on operations’ and develop hypothetico - deductive thinking ?

(1) Sensori motor
(2) Pre operational
(3) Concrete operational

(4) Formal operational

S Tt 3 Gareres faere 3 fagr & ear, forg s § sifemrisn o= ‘sl o fomaie’
FHT A 7 AR I ofwerres e g foesfaa 8 S 22

(1) Hag! THH

(2) Y& Hiraeas

(3) T HishARHH

(4) e HiEaas



[Question ID = 4][Question Description = S24_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

) Jean Piaget gave importance to in the process of learning.

(1) Readiness to learn

(2) Negative reinforcement
(3) Competitive feelings
(4) Functional fixedness

S fmmst = stferm =5 ufen o el e fem &2

(1) Hed % fa de
(2) FERIEF e
(3) Wi e

(4) TR foeran

[Question ID = 5][Question Description = S24_CDP_Q005]
1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]

4. 4 [Option ID = 20]

6)

Amarjeet considers rules as fixed and advocates that everyone should follow rules
irrespective of their personal situations. According to Lawrence kohlberg’s theory of moral
development at which stage Amarjeet is at present ?

(1) Obedience and punishment orientation

(2) Instrumental purpose orientation

(3) Good boy - Good girl orientation

(4) Law and order orientation

LS Tt o FEoR o1t & @R 5 o1 oht STIeien shedl & for |eft =t o1 Pl ot S7aeor s
ey, He 37! i (e ferst i FohR ol 2721 71 81| AN Hieean| o i o fHgid &
FTER, AU 39 994 forg sraeen § 872

(1) =R 3 2o S

(2) = 32T SE |

(3) T TISHI-IT=D] AgH SHE!

(4) A SR R I |

[Question ID = 6][Question Description = S24_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]



7)

During a group work in class, Ramesh finds his students struggling to solve a given question.
In order to scaffold them Ramesh should :

(1) Tell them to copy the answer from book

(2) Ask them to withdraw given assignment and move on next task
(3) Give cues and hints relevant to the problem

(4) Complicate the question by ambigous instructions

e § ge F % SR, 9 3w fw sue fawe feu o ued o v e A Smw ¥ ) femneif
=1 Gadn 24 % fore T ) | e =nfen ?
(1) 3% T § I kel hich o & ey ser =ifey
(2) 39 ST I i BISH W HA hl Hi o AU FHel =y
(3) W¥T § Hefed Gehd o =ifer
(4) e fAdw 5 9 1 Sfed ¥ o1 =i
1[Q:.1?cs)titqn |||; =275}[Question Description = $24_CDP_Q007]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

® To enhance students’ cognitive development, Lev Vygotsky advocated for

(1) Social isolation

(2) Use of cultural tools
(3) Rote memorisation
(4)

3

Passive imutation

feranfefaii & e fasm & dada & fou e gt 3 s sEfaee it oy # g ?
(1) SIS gghis
(2) HiEHider UL 1 TART

(3)  hewdiwm
(4) TR ST
[Question ID = 8][Question Description = S24_CDP_Q008]

1. 1 [Option ID =29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

Exams

? Progressive education places at the centre of teaching - learning process.
(1) Students
(2) Parents
(3) Teachers
)

(4



yefeetter foren foneror—eiferm ufieen & % § 59 oM ot &2

(1)  fomnei

(2) efrEs

(3) eEATIE

(4) TeTd
[Question ID = 9][Question Description = S24_CDP_Q009]
1. 1 [Option ID = 33]

2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Ahmad wants to become a Psycho - therapist or Counselor. As per Howard Gardner’s
theory of multiple intelligences, his teachers should provide opportunities to enhance his

intelligence.
(1) Spatial
(2) Naturalistic
(3) Musical
(4) Interpersonal

FEHE FARTERE Al TUHRIEH (FEHER) 941 JRdl ¢ | F6E MR & Jgay gfg fHsra &
STER 371 AN I 3HH! ol Ffg o Hasd & Ao o Fiey?

(1) i

(2) T

(3)  HeTcHeR

(4) STl
[Question ID = 10][Question Description = S24_CDP_Q010]
1. 1 [Option ID = 37]

2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

(® While practising cooperative learning, a teacher should

(1)  make same ability based groups

(2)  instruct students to follow only prescribed procedure
(3) restrict use of discussions and debates
(4) make groups of diverse learners



YeArTe SAMRH o FEFETH Hid GH ST ] 1 Bl =1fe ?
(1) Us 99 I ARG Toel 1 FHEi |

(2) fornfei =1 Fea fuifa i 1 srERw 0 & e &)
(3) ==isll SN ae-faarg % gam w1 ufefe &

(4) fafay faanfelEi o wqg o=

[Question ID = 11][Question Description = S24_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

In a classroom discussion on cricket, a teacher is giving more chances to boys than girls.
By doing so he is .

(1) Combating stereotype threat
(2) Practising gender bias
(3) Ensuring gender equality

)

(4) Breaking gender stereotypes

Fe H foFre WA W = W UF s Asfedl i I1en A i 2 ST T W E
T T 98 TN L @ E7?

(1) Hfgeg Al 1 %0 F @ e

(2) SIUEX Yarel i gred H @l e |
(3) VST HHIAT ol STTHY &L &I & |
(4) S wigeg GRONE I 1S @ |

[Question ID = 12][Question Description = S24_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13 :
‘ In a class of diverse learners, a teacher should :

(1)  Group students based on their performance in exams
)

(

(3)  Divide students based on their socio - economic context
)

(

(]

Set and maintain expectations of success from all

=

Practise standardised curriculum and method of assessment



fafaer ggyf § sy et ol e & sty 1 0 S =g ?

(1) odien § Sek Toare < SER W fante=i & wqe s =mfen )

(2)  Feft H el ®1 ST Al U oA WA e |

(3)  Temnfeiai = HreTfsier—snfeier T o SHR 92 ST iRt il Fie |
(4) HFHIFHT T SR swEA Fi fafbEi # s =fe |

[Question ID = 13][Question Description = S24_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) i :
Formative assessment is done :

(1) only at the beginning of the session

(2) throughout the session for all students
(3) at the end of the session only
(4)

4)  only for students facing learning challenges

THATHS 3FoT ohd fora Siar &2

(1) 5d ¥ & ARY H |

(2) Tt fernfefai % fow Qo= o SR |

(3) et | o i |

(4) e 37 femnfei & fom st stferm Ffal S s w §)

[Question ID = 14][Question Description = S24_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

") Which of the following question will promote critical thinking among students ?

(1) What is the Capital of Sri Lanka ?

(2) ~When is teacher day celebrated in India ?

(3)  Which is the largest city in Asia ?

(4)  How would you resolve water crisis in your city ?

Frefafed | 9 wFA-91 999 faanfei § gaemEEeTe fHaT & 99=d sn ?
(1)  icie =1 TTEHT HE-9F &2

(2) 9E ¥ AT feay e HAmEn S 8 2

(3) ufern H Had 921 UE HiA-|1 § 2

(4) o9 379 WG H U 6t HHI ki FEHE FRE Teh Herzm ?

[Question ID = 15][Question Description = S24_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]



3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

Concept of inclusion requires :
(1)  Respect of diversity and individual differences

(2) Standardised testing for assessment
(3) Teacher - centered Pedagogy
(4) Labelling and segregation of students

GUTEYE 1 SEURON 8 et stavashar § 2

(1) fafaem IR Safes fa=mmed & fag g |
(2) e o TAU Hehigd Gieo |
(3) aEATIER-hf= e waftE

(4) foenfeii = A (oafe) iR gersRie |

[Question ID = 16][Question Description = S24_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17 Fi = F - . . ® .
) Dyslexia” poses direct challenges in the domain of :

(1) emotional regulation

(2) body coordination

(3) social interactions

(4) comprehension of written text

TSR TR S H YoIe] 9 H AT TS i & 2

(1)  wrareHe e §
(2) e gEEeE °
(3)  wmIfSIh sfafswansdi §

(4) fofed favgesg & @iu d

[Question ID = 17][Question Description = S24_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



While students with Autism faces several challenges in certain domains, they have strength
which can be utilised by the teacher in teaching - learning process.

(1) to pay attention for minute details

(2) for social communication

(3) of expressing themselves without hesitation in front of large groups
(4) of easily adjusting to frequent changes in schedule

TEar (enfesn) 3w fornfe areifer Fo i § fafum 9o =g € afshs 39 arg
o TetEq Ut o 8, e e seme foerr-sifers gigwer § K s §

(1) Y| faawol = =M &
(2)  HEITSTR FE
(3) I H TS W % 9, o feme & = w0

(4) EHfeE H Stedt-sieat 9iEd o Ui SRerTgEs e

[Question ID = 18][Question Description = S24_CDP_Q018]

1. 1 [Option ID = 69]

2. 2 [Option ID = 70]

3. 3 [Option ID = 71]

4. 4 [Option ID = 72]

19)
Which of the following mode should be avoided while teaching students with visual
impairment ?
(1) wverbally explaining the content written on board
(2) providing tactile maps
(3) allowing use of assistive devices
(4) wusing written tests to assess learning

2fe anferdr 9 Sgd famnferE o ary e o g9 feg fafy mem & wam 4 9= =iy ?

(1) vz R fofes favgasg =i difgs w9 9 =amen &
(2) T A <
(3) B ITHIVN ok FAN F A &

(4) SRTH % eed & o fafes wigm o

[Question ID = 19][Question Description = S24_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20 - - - . . - ¢ > !
" Which of the following is not a characteristic of students with ‘giftedness’ ?

(1) above - average intelligence level

(2)  higher order problem-solving skills
(3) high motivation to master skills
(4)

4) slow in processing information

Freafefad 8 9 SE-d faswar wfasmoren’ faenef =t =2 &2

(1) frga 9 ifeer gfg
(2) T WA THH] THEM He |
(3) e W YU 9T e % fore 3= e S

(4) STFERRI =l TE0 HE H HHG |

[Question ID = 20][Question Description = S24_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)
A teacher should motivate students to form view of ability and should consider
learning as process.

(1) incremental, an active

(2) entity, a passive

(3) incremental, a passive
)

(4) entity, an active

U eI o fanfefEr &t e & yfees &R siferm =il gfehar
qH % fou greaifed s =z |

(1) dfgaEes, uF Hia

(2) AT @iHeR, U THfsRa
(3) dfganueh, T s

(4) s i, Th HhRg

[Question ID = 21][Question Description = S24_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

*2) " Students are likely to experience when the activity is not valued by them.
(1) Curiosity

(2) Excitement
(3) Joy
(4)

4) Boredom



7ife wifafafy &1 wew =& fem s @1 & o fanedt gm0 form &1 s1gva 3 =i g €1
(1) fommn

(2) SeEmE
(3) &=
(4) difed

[Question ID = 22][Question Description = S24_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23)

Richa, a school teacher wants to promote conceptual understanding among her students.
To do so, she should :

(1) ask students to solve questions in prescribed manner only.
(2) focus on procedural knowledge and metacognitive skills.
(3

) emphasise on rote memorisation of content.
(4) discourage students to establish connections between sub-concepts.

el iR fan s1qs Taenfeiei F srasmoneTs GHet 1 9g=1d & Jed & | 36% forg 38 &
HE =" ?

(1) fernfeii =1 oot = weTaE it 9 9 % & fau e =nfen)

(2) SRS T AR 2 TAETHE FRTE W S =ifE

(3) TawoEsg % Fow B0 W 96 <1 =y

(4) fernfe =t su-sraEmonet ¥ Tregar wfud w9 % fou freemte s =)

[Question ID = 23][Question Description = S24_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

)" Which of the following characterizes a socio- constructivist classroom ?
(1)  Teacher inculcating competition-oriented attitude among students
(2) An environment conducive for discovery learning

(3)

(4)

Pedagc}gy geared to focus on rote memorisation
Curriculum which is standardised and does not consider cultural differences



frerfefed & @ SH-d G e s fama €2
(1)  @r=amyss g foenfefai | wfaeifiar S=qgl giesmon = foe e
(2) e Hall stfenm fau stqefed afEw
(3) herediety T Ffd Memmmeia gfafyr
(4) HAFHIEHT TSI S Wik aE e #1 s | wEd g
1[Q;.n[e;;it?or:] |I|[)) =923;1][Question Description = S24_CDP_Q024]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Students feel more involved and engaged in the process of learning if classroom
environment promotes :

(i)  Enquiry about the concept

(i) Reflection on their thoughts

(iii) Passive imitation of the teacher
(iv) Mere reproduction of knowledge
(1) @ @)

(2) (1) (i)

(3) (i) (i)

(4) (i) (iv)

Toramefl spen H s3ferms sl wishan | s1fees Gisha A Ferl o 7egy id 8 | Afe &l 1 9fiEw
HHd Ll 8

(i) sEuRonsT &SR H fomm

(i) = foaRl W fawel-fea

(iii) A=A <1 ffeRg s

iv) M 1 " HRESAeT

1y (@), (i)

2) (i), (iii)

3) (i), (i)

4) (i), (iv)

1[Q:J?;titgn |||3 =927]5][Question Description = $24_CDP_Q025]
2. 2 [option ID - %]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]



26)

To facilitate students’ learning, a teacher should conduct activities which are :

(1) relevant to their everyday life

2

4

mechanical and require passive listening

(2)
(3) decontextualised
(4)

presented in progressive sequence from complex to simple

ferenfefai & siferms <1 Gew-gvA oA & foIT s1eaTysh 1 foRg wehR i Tfafaferl 1 Herer we
=rfge?

(1)

S Sk fdfes & wieq & fou i 8

(2) =it =ifen 2 iR ford ffsra syaror snfiver 211
(3) S He ¥ g A
(4) = Sifed § W& S SR ST 9gd g 9§ Ed @ |

[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

27)

ID = 26][Question Description = S24_CDP_Q026]
ID = 101]
ID = 102]
ID = 103]
ID = 104]

Development of critical thinking in students can be facilitated by emphasising on

3

I~
1= =)
e i S

application of learning in varied contexts.
competition to finish the task at earliest rather than understanding it.
mere summarisation of notes given by the teacher.

rote memorisation of content and paSsive imitation of teacher.

faenfei & waeiraers o= &1 fasm forg yen west gy forar s | &2

1

3

(1) fafay esif 5 s1fir % s g/
(2) HHEHA % T 9 T o e A vite 90 % o fer uiaEiiar s w
(3)

AT BRI feU 0 =R & e Hie

(4) fammEsg o dewdietn iR e w1 iR s =

[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

28)

(1)
(2)
(3)
(4)

ID = 27][Question Description = S24_CDP_Q027]
ID = 105]
ID = 106]
ID = 107]
ID = 108]

Pace of learning is :

dependent solely on personal factors.

dependent solely on environmental factors.

independent of both personsal and environmental factors.
dependent on interaction of personal and environmental factors.



At i Tfd -

1) T e AT w1 R E

2) g T SrEoi ekl e B

3) =fea SR SR FE, S Y w6

4) SATHT SR SAEiE R il gREE oA o feiR 7

[Question ID = 28][Question Description = S24_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

(
(
(
(

) Alternative conceptions of students :

(1) should be discouraged by ignoring them

(2) are not related to thier experiences

(3) are always extremely erroneous and represents irrational thinking process

(4) illustrates their ‘naive’ theories constructed in the process of meaning-making
ferenfei =t dehfedsh sraERomy |

(1) ol STE Hih fedted &1 S =
(2) T STYEl | Hefed TE &
(3) THEN TcH e Srr § o1 deheld e Wiska i guid
(4)  oref fotor =) whwenedi # et T wew SEel @ gt §
1[Q;.n[ecs;ti:n ||[; =1212]][Question Description = $24_CDP_Q029]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30 ? : . 4. ;
" While teaching a concept, it is important to avoid :

(1) making connections among different aspects of the concept.

(2)  highlighting cause-effect relations.

(3)  giving non-exemplars related to concept.

(4)  presenting the content of concept disconnected chunks of information.

ferelt off sraremRom 1 forerr e we fog o1 | =1 Heey 272

(1) EuRms & fafe= qggsii & 7= gragal g & |

(2) HREH-UNE HaH| Tl ik |

(3) SEHRUNE %1 TR SEEIUN o | W& Al |

(4) EHeHEl i fauges] i Al % A WSl o Y H KA |

[Question ID = 30][Question Description = S24_CDP_Q030]
1. 1 [Option ID = 117]



2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

1)
If x=(2019)2 + 2019+ 2020 , then the value of (2x—1) is :

(1) 4040
(2) 4038
(3) 4039
4) 4041

afs x=4/(2019) + 2019+ 2020 &, A (2 — 1) %1 HF & :

(1) 4040
(2) 4038
(3) 4039
(4) 4041

[Question ID = 31][Question Description = S24_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)

What is the sum of the greatest and the smallest of the following fractions

4 5 7 11 8
P T T and T ?
9" 6 12 24 11
Lo
5 37
@) 3
5 B

31

) oz



et fell o oo oSt qon gag S fusl @ v s g2

45 7 18
9" 6" 12" 24 11
g
(1) 12
y ¥
g 2
(‘) 18
g 2

[Question ID = 32][Question Description = S24_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)

M Y (2
What is the reciprocal of x, where y= _] > [_] X [_] ?
3 2 3

1
O 2z
1
@ 3
1
®) 3
2
@ 3



1
L =z
1
2 3
1
3 3
2
@ 3

[Question ID = 33][Question Description = S24_Maths Content/Pedagogy_QO033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

“If 3101 -2.11-k =265 —0.256, then what is the value of (1—k) 2
(1) 2.304
(2) 2.403
(3) 0.597
(4) 0.403

Afg 3.101-2.11—k=2.65—-0.256 8, T8 (1—k) = 1 A & ?

(1) 2.304
(2) 2.403
(3) 0597
4) 0.403

[Question ID = 34][Question Description = S24_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

3)

1'2_X 10° is written in the standard form as :
24x10
(1) 5x10°
(2) 0.5x108
(3) 5x107
4) 2x107



12x10° = qFE w9 H e gR o TR S @

24x107%

(1) 5x10°
(2) 0.5x10°
3) 5x107
4) 2x107

[Question ID = 35][Question Description = S24_Maths Content/Pedagogy_QO035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

? o g 2 ja o o2
(x Ty 2 ) _( A ) is equal to :
(x+ 2) (x— z)yz
1) 2
(2) 4
(3) 1
4 0
(x+2)(x— z)yz
1) 2
() 4
3) 1
4) 0

[Question ID = 36][Question Description = S24_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

) What is the sum of coefficients of x2 and x in the following expression ?

(x=2)(2¢% + x = 15) = (x+ 2) (x” +11x + 10)



e s H 2 37 x o ORI AR P 2

(x—2)(2¢% + x—15) = (x +2) (x? + 11x +10)

(1) 35
2) —49
3) 65

4) —65

[Question ID = 37][Question Description = S24_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8 : ;
) The solution of the equation

y+6+y—3_5y—4
4 5 g
is also the solution of the equation :

2 4 5
o gy

gt Y46 ¥—3 Sy 4 5w, Fore wefieo o ot T X

4 5 8
y+3 y—>5

[Question ID = 38][Question Description = S24_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]



9)
On selling a calculator for ¥ 980, a person loses 6%%. For how much (in ) should he sell

it to gain 8% ?

(1) 1132
(2) 1134
(3) 1240
(4) 1244

U FerFeret H1 T 980 H S T UF A H 6%%,aﬁmﬁg‘m% | 5% 39 fr T o At

Y 9 8% U B ?

(1) 1132
(2) 1134
(3) 1240
(4) 1244

[Question ID = 39][Question Description = S24_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) _
If 3x +2i= 5, then what will be the value of 3x2+{12r2) 1 ?

X

1

7_

L 73
2

T

@ 63
1

¢

(3 °3



1 _
afe 3x+5-=5 & @ 82+ (1249 " %51 7 € 2

W 75
@ 63
@ 8
W 93

[Question ID = 40][Question Description = $24_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

In APQOR, side QR is produced to a point T and side PQ is produced to a point X. If
ZPRT=136° and ZRQX=104°, then the complement of ZP is :

(1) 30°
(2) 50°
(3) 60°
(4)  66°

395 PQR , [ QR ! U foig T e < STl € iR s PQ %! fag X 7 srgran i & | 4fg
ZPRT=136° 91 ZRQX=104° &, & /P Fl T&F § :

(1) 30°
(2) 50°
(3) 60°
4)  66°

[Question ID = 41][Question Description = S24_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)

If the complement of an angle x is equal to the supplement of angle 4x and the supplement
of an angle y is 4 times its complement, then what is the value of (x +y) ?

(1) 80°
2) 90°
(3)  100°
(4)  120°



T2 IO x 1 T FI 4y F HYLh o IS 8, S HIV y T HEH 50 TF =R A 8, 74
(.r+y)31r'lflT;l§:

(1) 80°
(2) 90°
(3) 100°
@) 120°

[Question ID = 42][Question Description = S24_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)

In a quadrilateral ABCD, ZC=72° and ZD=80°. The bisectors of ZA and £B meet at a
point P inside the quadrilateral. What is the measure of ZAPB ?

(1) 70°
2) 76°
(3) 78°
(4) 86°

=99 ABCD #, £C=72°71 ZD=80° &1 A 3R /B ¥F Wiz, <gs & i g P
fHetd €1 ZLAPBHI AN ® :

(1) 70°
2) 76°
3) 78°
(4) 86°

[Question ID = 43][Question Description = $24_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)

If x, y and z are the number of faces, edges and vertices respectively of a pentagonal

2
xX+y—z
pyramid, then what is the value of —é—] +17?
(1) 22
(2) 24
(3) 26
(4) 28



Ffg fordll davsir snar arer fyafie o woei, Tl 3R ol =1 derd 9w «, y iRz 8, @

_72
[ig_“] F1F AR

(1) 22
@) 24
(3) 26
(4) 28

[Question ID = 44][Question Description = S24_Maths Content/Pedagogy_Q044]

1. 1 [Option ID = 173]

2. 2 [Option ID = 174]

3. 3 [Option ID = 175]

4. 4 [Option ID = 176]

15)
In which of the following cases, the construction of a quadrilateral ABCD is not possible ?
(1) AB=4.8 cm, BC=43 cm, CD=3.6 cm, AD=4.2 cm and AC=6 cm

(2) AB=7 cm, BC=8 cm, AD=10 cm, ZA=120° and £ZB=80°

(3) AB=9cm, BC=76 cm, ZA=60°, ZB=120° and £D =80°

(4) AB=8 cm, BC=10 cm, LZA=75° /ZB=150° and ZC=135°

e form fearfa o, wa 9g4s ABCD 1t T91 999 @i € ?
(1) AB=4.8 cm, BC=4.3 cm, CD=36 e¢m, AD=4.2 cm 3R AC=6 cm
(2) AB=7 cm, BC=8 cm, AD=10 ecm, ZA=120° 3R £B=80°
(3) AB=9 cm, BC=7.6 cm, ZA=60°, ZB=120° 3R £D=80°
(4) AB=8 ecm, BC=10 cm, ZA=75°, ZB=150° 3R /C=135°
[Question ID = 45][Question Description = S24_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)

The area of a trapezium is 1.6 m? and the distance between its parallel sides is 10 dm. If
one of its parallel sides is longer than the other by 8 dm, then the longer parallel side is :
(1) 140 cm

(2) 180 em
(3) 200 em
(4) 280 cm



fordlt gaeia 1 &% 1.6 m? € 2R sU! iat eneli & = &1 g 10 dm ¥ 1 Al gaiw
yenell § ¥ U gl 9 8 dm Ay &, @ 99iaw geneli § a€ e #i des &
(1) 140 cm

(2) 180 cm
(3) 200 cm
(4) 280 cm

[Question ID = 46][Question Description = S24_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

The height of a solid right circular cylinder is 15 cm. If 4 times its curved surface area is
equal to 6 times the sum of areas of its bases, then its volume (in cm?) is equal to :
(1) 900 =

(2) 1200
(3) 1350
(4) 1500

ot SiF e FeTa e i S8 15 cm B | A% 36 9k 517 &5 1 4 T 59 MR
SABE o AR o 6 T o G &, 9l 9o Hl 3AEa (em? H) T § -

(1) 900

(2) 1200
(3) 1350 7
(4) 1500 7

[Question ID = 47][Question Description = $24_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

The internal length of a rectangular water tank is 5 m and depth is 1.5 m. If it can hold
30000 litres of water, what is the internal width of the tank ?

(1) 35m

(2) 4m
(3) 42m
(4) 45m



SATIATRT YT i Wek ekl <h1 3TTafies o 5 m & &R 784S 1.5 m ® 1 3fe 399 30,000 wftet 9FT
W HFAT §, T 39 ! Bl SAaiE AeE #E 7

(1) 35m
2) 4m

3) 42m
4) 45m

[Question ID = 48][Question Description = S24_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19 : : A
) What is the mean of mode, median and range of the data given below ?

9,11,4,'7, 10,23, 21, 29,23, 33, 18

(1) 20
(2) 21
68
G =
70
4) =

e atieRei o Sgereh, HTeAS T UER o HIE R € 2
9,11, 4, 7, 10, 23, 21, 29, 23, 33, 18

(1) 20
@) 21
68
B 5
70
@ 3

[Question ID = 49][Question Description = $24_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)



Numbers 35, 36, 37, . . ., 64 are written on cards (one number on one card) and putina

box. A card is drawn at random from the box. What is the probability that the number on
the card drawn is divisible by 3 or 5 ?

1
Y
7
T
1
® 3
13
@ 3

HEAW 35, 36, 37, . . ., 64 fafv= wrel 1 foadt ot € (Ueh e | U 9E=) iR 3%
T H = fom o ¥ 19§ § U e 9g=s ' 9 e s €139 e e e w ot
Ten 374 5 9 faumd §, 29! 91 ifashar & ?

ST
VI
s 7
a3
(" ) 3
. 13
( ) 30
[Question ID = 50][Question Description = S24_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]

2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)
Ms. Anita is observing children for addition of algebraic expressions. Which of the
following is most appropriate for Ms. Anita to look for in the responses of the children ?
(1) Strategies a child is applying and child’s progress towards higher level strategies
(2)  How correctly the child is solving problems on addition of algebraic expressions
(3) How quickly the child is solving problems on addition of algebraic expressions
(4)

How neatly the child is solving problems on addition of algebraic expressions

=



G, 3 Ssia SRt 3 A o fae s o i R R €
frefafaa o 9 s==i 1 fore ufsranell ® ogm < g4t o & forg w= s 22
(1) Arsrd foeR g1 A9EN #T @ § 991 993 ) 399 WA Al & e gt
) Fore w9 A == sfio SRl % A0 T GEEA g @18

(3) Temert Seet ar=an disia SHsteh] o A1 I qHES g H W@

(4) fopat gwE & s sfisfia SierR & 20 o goensti # 5 w @ E

[Question ID = 51][Question Description = S24_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

2 Which of the following is a least appropriate strategy which will help students in

constructing their knowledge ?

(1) Activity based method

(2) Inductive - deductive method
(3) Problem solving method

(4) Lecture method

Frefafed § & Fm-<t fafy faenfe= it S5 3 & Fmfon § e w0 % o god &9 w03
I9gF Bl 2

(1) wifafafy swenf fafy

(2) AT - AR fafy

(3) wwE g fafd

(4) =AM fafy

[Question ID = 52][Question Description = $24_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)

A child is in which level of geometrical thinking according to Van Hieles if he/she is able
to deduce general properties of geometrical shapes and is able to prove theorems ?

(1) Level O
(2) Level4
(3) Level2
(4) Level3



A T F TR =1 A Feaa o ford T 0 T s a7 st stepfas o T ol &
Tomee & e @ TR Wil =61 weiford o ofar @ 2

(1) &0

(2) w4

(3) X2

(4) X3
[Question ID = 53][Question Description = S24_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]

2. 2 [Option ID = 210]

3. 3 [Option ID = 211]

4. 4 [Option ID = 212]

24)
While measuring the length of a straight line, a child in the class states that, “Any point
on my scale/ruler can be taken as the starting point”.

(1) The child is unable to conserve the idea of measurement

(2) The child needs to be corrected as only 0 can be used as the starting point
(3) The child is able to conserve the idea of measurement
(4) Such responses need to be discouraged in a mathematics classroom

STOT el H U Tl Y@ I oveg 1 A9 hid g0 U aiferal Seord il ¢ feh- R T
(Ehe1) W of fog Uk i fag o ®9 § foran s gehan g1

(1) @ferrt 999 1 FFURN % 90 §EA T a1 TS 8/ W0 T HL AR B |

(2) =fcrsht TRl W TEl FHE il T ¢ 6 Haa 08 AR fog % AR faen s weR
z

(3)  wfeTshT TI9A o1 AR & Tl Hg A1 91 &/ o1 TR B UK ¥
(4) TIFOTe <1 R H H A8 o 3Tl ol BdlcHITed Al Afal

[Question ID = 54][Question Description = S24_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

'y Ability of solving mathematical questions is independent of :
(1) Practicing mathematical concepts

2 Understanding of mathematical concepts

)

(2)
(3) Visualisation of mathematical concepts
(4)

4 Gender and caste



TN 99 SR el ST Rl &l o 792 T et
(1) TR SATERIMA & T

(2) IO STAURONS & THHA

(3) TR STEMTONS] % guHIEI

(4) S gIfa

[Question ID = 55][Question Description = S24_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26)
Which of the following statement is NOT correct with regard to the nature of mathematics ?

(1) Primary level mathematics is concrete and does not require abstraction
2

(2) Mathematics uses special vocabulary to communicate ideas precisely
(3) Mathematical concepts are hierarchical in nature
(4)

=

Mathematics involves deductive reasoning

Freferfaa o | S-a1 w5 o =t yia & g9 § 98 T8 € 2
(1)  wefies L o 1o e & eI gud e i Aevashd TE §

(2) T H STaeROnst 1 AUaed (FER) ®9 9 gefvd e & foe e weereet s g
ERIR IR

(3) TR staronsl i UHfa qeHHi e @
4) o § FrroeRaes aifdhean wnfeer &

[Question ID = 56][Question Description = S24_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

In mathematics class, teacher asked Raman, “If the interior angles of a triangle are in the
ratio 2 : 3 : 4. Then what is the measurement of these angles ? Raman responded the
measurement of the angles as 407, 60° and 80°. Which ability of Raman is showed through
his response ?

(1)  Counting ability

(2) Proportional thinking

(3) Ability of measurement

(4)

4 Rote memorization



Tford <t ke § forferes 3 v © w1 fr ovw fopdt s & stiafies i 2:3: 4 %F ey § E <
FHE T HIUI 1 HIY A B2 TE W A A e TR R0 1 =19 40°, 60°, 2T R0° BAN | THA

SR SHH! FRE &1t i < 8 2
(1) T =kt s

(2) HHrErfdeR fEdA

(3) HIYA i AT

(4) T2 T ATG HLA i A

[Question ID = 57][Question Description = S24_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

Which of the following statement regarding mathematics teaching - learning is NOT correct ?

Mathematical knowledge can be created in primar_y classes through observation of
patterns and generalisations

Mathematical learning is also a social process involving dialogue
Culture and context has no role in constructing mathematical knowledge
A good mathematics teacher can enhance the interest of students in mathematics

nifore o foreror - sfer % 9 H H-91 U Hal TE ¢ 2

(1)

Trefes smened | 7o o1 FH Siaeul S W=l & e o "1 9 gierd foRa
T HERA

i = 3Ty e e w Snifee afmar off
TforE F &% g § HEpfa SR Feuf it &g ufte 78 ¥
T SR STt syeEfuenT Taenfeit =t wfvm & e &1 YagT T gl

[Question ID = 58][Question Description = S24_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)

Which of the following is a least effective pedagogical tool for an inclusive mathematics
classroom 7

(1)
(2)
(3)
(4)

Use of ICT tools

Use of standardized tests

Use of models, such as tactile graphs and abacus
Use of formative and summative tests



Frefarfaa § & @t 7for =t garaeh e o foe o8 w0 g faor srei gored € 2
(1) ICT (=1 Ge9UIcHF qeheAlen! ) &l STAN
(2) HFEHIFT S F TIN
(3) Wied, Sy o waeiia si@ iR feam =1 w=bm
(4) TEACTH IR AT S T TEN
1[Q1u¢[a;ti9n |||; =253§]][Question Description = $24_Maths Content/Pedagogy_Q059]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30) Which of the following is least related to mathematics ?

(1) Deductive reasoning

(2) Logical reasoning
(3) Experimentation
(4) Axioms

Frefefaa § § F9-ar vfog & 998 F9 w9 § gag 82
1) A fae=m

(2) feRek fae=m

(3) wER

(4) w=EfEg

[Question ID = 60][Question Description = S24_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

" Read the statements below and choose the correct option :
S;: All Combustion reactions are exothermic reactions.

S, : Oxygen is added and heat is released in all these reactions.

(1) Both S, and S, are true and S, is the correct explanation for §;

(2) Both S, and S, are true but S, is not the correct explanation for S;
(3) Sy is true but S, is false

(4) S, is false but S, is true
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(3
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[Question ID = 61][Question Description = S24_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2 (R;) Reaction1 : Barium chloride reacts with Sodium Sulphate.
(R;) Reaction 2 : Magnesium oxide reacts with carbon dioxide.
Which of the following is true ?

R, R,
(1) Combination reaction Decomposition reaction
(2) Double displacement reaction  Combination reaction
(3) Displacement reaction Double Displacement reaction
(4) Combination reaction Displacement reaction

(R,) : Afuferan 1 S e Hifeaq gethe 9 AR T 8
(R,) : Afuferam 2 : I SATEE e SRS O sAfafm w5 ¢

Frfafes § 4 =T a8 2

Ry R,
(1) EArsm aAffern s sAfafman
(2) T5-fomemus aififem o el
(3)  fawarT sifafeman Tafereama stfuferan
(4)  HASH AR fareamm stfaferan

[Question ID = 62][Question Description = $24_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3 Read the statements below and choose the correct option :

Sl:
S, :

5]

—
= 2 P =
B e

Physical changes are always reversible.

No new product is formed in a physical change.

Both §; and S, are true and S, is the correct explanation for §;
Both §; and S, are true but S, is not the correct explanation for S;
S, is true but S, is false

S, is false but S, is true

Tr=fafaa Al =1 ufeu oI wel fasey =1 =249 &ife

S, : Wifqes ufterd= Fefe1 Sehuvi g €|

S, : Wiiferer 9fter H =g 1 Seare Ffea 7@ e

(1) S, 3RS, 3H |ea & 3R S, i S, Wal = 7 |

(2) S, 3RS, M w2 fdg S, I S, WEl =T TE Bl
(3) S, ¥ fHgs, A 2

(4) S, AT fhg S, ¥ )

[Question ID = 63][Question Description = $24_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4 Match the following for flame of a candle.

A B
Hottest part (i) Innermost zone of unburnt wax vapors
Moderately Hot (ii) Middle zone of partial combustion
Least Hot (iii) Outermost zone of complete combustion

(a)-(iid), (b)-(0), (c)~(ii)
(a)-(i), (b)-(iif), (c)-(3)
(a)-(1), (b)-(i), (c)-(iii)
(a)-(iid), (b)~(i), (c)-()

el @i sarel & fau fAefatad =0 gafad S

(a)
(b)
(c
(1
(
(3
(4

[R]
B

A B

waifuss 70 W (i) ATl HIE H AT H AT /A
T T 9 (i) SR g8 S A
SATH TH 9 (i) g0 S8 1 STRIEE T

(2)-(iii), (b)-(i), (c)-(ii)

(a)-(ii), (b)-(iii), (c)-(i)

(a)-(1), (b)-(id), (c)-(iii)

(a)-(iit), (b)-(ii), (c)-(3)

[Question ID = 64][Question Description = S24_Science_Q064]



1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

) Which of the following metals does not react with dilute Hydrochloric acid ?

(1) Iron

(2) Copper

(3) Magnesium
(4)  Aluminum

Frefafaa § 9 = 9 oy 05 TEeEeiE o 3 sifufsren TE w2

(1) STEE/ErR
(2) I
(3) HferEm

(4) Ui

[Question ID = 65][Question Description = S24_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6)
Read the statements below and choose the correct option :

S; : Growth and branching of roots in A and B horizons is advantageous for absorption of water
and minerals

S, : A and B horizons are rich in water, minerals & humus.

(1) Both S; and S, are true and S, is the correct explanation for $

(2) Both S, and S, are true but S, is not the correct explanation for S
(3) 8, istrue but§, is false

(4) Both §; and S, are false

Frefafad el W) faar Fifsy siv w@t fawey &1 =97 sifem .

S,: A 3B H&R ferfadi w =i =1 gfs vd vwwem s wd wfsi & sraw & fag e )
S,: A 8RB u=R fufq 5@, s vd e 4 993 2 |

(1) S, SRS, T Hea & iR S, i S, Wal A § |

(2) S, RS, M w2 fhg S, I S, WEl =T 7E B

(

(

[i*]

g

3) S, " ® S, FEA T
4) S, 3iivs, g erHeE T

[Question ID = 66][Question Description = $24_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]



7 Which of the following is/are inorganic impurities of sewage ?
(A) Urea

(B) Phosphates

(C) Pesticides

(D) Vegetable waste
(1) (B)and ()

(2) (A)and (B)

(3) Only (B)

(4 Only (D)

Frafafea § 3 20 geed =1 s sryfeal 3782

(A) Ffem

(B) THIERS

(C) drsFAmi

(D) a%qfd 37U

(1) (B) 3 (©)

(2) (A)€R (B)

(3) e (B)

(4) ad (D)

1['Q:.|¢[a;;itci>or:] |Ir; ==266:]][Question Description = $24_Science_Q067]

2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8 Which of the following are true for sexual reproduction in plants ?
(A) Two plants are essential for sexual reproduction.

(B) Only insects are agents of pollination.
(C) Fertilization occurs only after pollination.
(D)  Plants are obtained from seeds.

(1) (B) and (D)

(2)  (A) and (B)

(3) (A) and (D)

(4) (©)and (D)



frafafea § @ #n, T A dfm s v €
A) ©ifer 5 % o @ WY srevass ¥
B) helel Thie §l RFTIT o R B |

(

(

(C) =R Tael AT o U9 & 8 HEar © |
(D) 8 sisi § wra fomd o €
(
(
(

1) (B) 3R (D)
2) (A) SR (B)
3) (A) R (D)
(4 (O &R (D)

[Question ID = 68][Question Description = S24_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

?) Pick the odd one out on the basis of respiratory organ :
(1) Grasshopper

(2) Cockroach
(3) Snail
(4) Ant

frafafag 8§ 9 vags o & opuR W e tF #1 Som Fifen |
(1) fe==

(2) Rl
(3) =
(4) =i

[Question ID = 69][Question Description = S24_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10)



Arrange the following statements in the correct order :

(A) Urine stored in urinary bladder is passed out through the urinary opening at the end of
urethra.

Ureters carry urine to the urinary bladder.

Useful Substances are absorbed back into blood.

Blood containing useful & harmful substances reaches kidney for filtration.
Wastes dissolved in water is filtered out as urine in the kidneys.

(©) = (D) = (E) = (B) - (A)

CIGIE

s

S p— — — p— g— —p—
[R%] tr
T

(D) = (B) = (O) = (4) = (E)
3) (D)= ©) = (E)—=B) =4
4) (B) = (€)= (D)= (A) = (B)

Frefefad Al &1 g8l e H sqafted wifsg

(A) TERE H vizfE g3 gemnl % faysia W suftd gHig 9 et e e s
(B) @I 951 o HALE qoh o Sl 8 |

(C) STarT wered e | arow syerifod = fag s 21

(D) wYEE Ud g qgel 9fed sfr 87 & foau 9o 9% vgadl 2|

(E) S/ H gereiia srafere yemef gaes # 27 &t 93 ®9 § 9t fee fau s 21
(

(

(

1) (C)—>(D) (E) = (B) = (A)
2) (D)= (B) = (Q) = (A) = (E)
3) (D)= (©) = (E) = (B) = (A)
(4 (B) = (€)= (D) = (A) = (B)

[Question ID = 70][Question Description = S24_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11)

While preparing dough for making “cake”, the cook adds a Pinch of yeast and sugar to the dough
and leaves it aside for few hours. Why does the dough smell sour after few hours ?

(1) Due to production of Carbon dioxide

(2) Due to production of Alcohol
(8) Due to addition of sugar to yeast
(4) Due to production of lactic acid



ek % o TeT e g, TEEd 3 UF gl A 3R = o o S iR g ue % fau 38 vee grs
oo oo = % e sne H I el vy =i e W 72

(1) =Fiifsh <hlel- SRS 391 Bl 2|

(2) i Teenied SeT= BB |

(3) it 7 | =it el TE ot

(4) wHifer Sfes e 3o B B

[Question ID = 71][Question Description = $24_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

'2) Read the following statements and choose the correct option :
S, : Blood flows in only one direction in arteries.
S, : Arteries have valves.
(1) Both S, and S, are true and S, is the correct explanation for S,
(2) Both S; and S, are true but S, is not the correct explanation for S,
(3) 8 istrue but§, is false
(4) S, is false but S, is true

Trfafaa Foml i afer IR 9 faweq =1 =94 Fifau :
S, : b H SR e w e & aTEd g ¥

S, o § e 2

) S, 3RS, 3H TAE TS, FH S, T AT |

) S, 3RS, < " E fohg 8, #1 S, Wel e TE ¢
) S, T & fa s, e B

) S, FHA ¢ [H4 S, FH €

[Question ID = 72][Question Description = $24_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3) ‘Consider two situations (A) and (B) given below :
(A) : Exhaust fan is fitted on the wall near the ceiling in the kitchen.
(B) : Exhaust fan is fitted next to window of the kitchen.
Which of the two situations will be more effective in expelling heat from the kitchen ?
(1) (A) will be more effective
(2) (B) will be more effective
(3) (A)and (B) will be equally effective
(4) It depends on the direction of air



= & T <1 feafaat (A) 3R (B) W fa=m Fifew
(A) : TIE § =a % fepe SR W frafas dan @ gan )
(B) : Taiass @ wIE i fasehl o W & g7 ¢ |
g F o 1 Fremem § ST fifeafedl § 9 ®F ity gyt gm 2
(1) (A) @feres gt g
(2) (B) sfies gurEt g
(3) (A) &R (B) =r=R gt &
(4) % arg i feen W AR e @
1[Q1u?étitqn |||3 =£]][Question Description = $24_Science_Q073]
2. 2 [Option ID - 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)

In a simple pendulum, the distance between the mean position and extreme position is D. Time
taken by bob to move distance D/4 is t; sec. What is the time period of the pendulum ?

(1) 8 tsec

(2) 12t sec
(3) 4 t;sec
(4) 16t sec

s | arereh |, AeA fef o =ea feafa % o9 @ g DR gl D/4 @ T F e ¢ H6E aad B
wIeTeh 1 FHAEY 41 ?

(1) 8 t;HHe
(2) 12t e
(3) 4 t, Hhe
(4) 16t HHS

[Question ID = 74][Question Description = S24_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



%) Students are asked to plot distance-time graphs for data given in tables (A) and (B).

Table-(A) Table-(B)
Distance| Time Distance| Time

0 0 0 0
10 1 30 3
20 2 60 6
30 3 90 9
40 4 120 12

(1) (A) will have a greater slope than (B)

(2) (B) will have a greater slope than (A)

(3) Slopes in (A) and (B) will be equal

(4) Cannot be inferred from given information

Toranferi st Tmoft (A) &R (B) H fou Tu siiersl ¥ g8-9w oTerE Wi & forg e T
TR (A) RO (B)

£l Y <4l EEp
0 0 0 0
10 1 30 3
20 2 60 6
30 3 90 9
40 4 120 12

(1) (B) ¥ (A) = garr atferss 201t |
(2)  (A)F (B) I wea Aferss anfi |

(3) (A) &R (B) § T@H /AT BT |

(4) = TE gEm ¥ Freed 77 freeen st S
1[Q:J(E:-;ti:n |Ir; =£]][Question Description = $24_Science_Q075]

2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



What will happen to the size of the image formed in a convex lens if the object is positioned beyond
the centre of curvature and thickness of lens is reduced ?

(1) No change

(2) Size of image will decrease
(3) Size of image will increase
(4) No image will be formed

Torelt et oAw g fafia wfafsi 3 21mm9 =61 =0 8 4l fois =61 sehe o2 | 9 3@ S, 37R o | =t HeE
EORCCARTIRS |1

(1) @ IR &

(2) gfdfss 1 MY = S

(3) ufdfes =1 MY s/ ST

(4) e wfafss 7& sm

[Question ID = 76][Question Description = $24_Science_Q076]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

)
)

'7) Which of the following is/are true regarding sound and light ?
(A) Vibrations are necessary for producing sound

(B) Sound Travels slower than light

(C) Both light and sound require a medium for propagation
(1) (A)and (B)

(2)  (A)and (©)

(3) (B)and ()

(4) Only (A)

waf ud R & Hey H Frefafaa # 8 e e /82

(A) =&l I FE F fau F97 smEvaF §

(B) W § eaf HiH Ferdt €

(C)  Wehrel AR saf ST =l Hewor & forw sk wreqd sl sTevdedar aid €
(1) (A) 3T (B)

(2 (4) R (©)

(3) (B) ¥R (C)

(4) A (A)

[Question ID = 77][Question Description = $24_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



18)
Two blocks of iron of masses M, and M, are lying on a cemented floor. If M, is greater that M,
then :

(1) M, is experiencing greater force of friction than M,

(2) M, is experiencing lesser force of friction than M,
(3) Both M, and M, are experiencing equal friction
(4) Friction acting in M, and M, is zero

T HiHS W W M, 3R M, ZHHMI %, @le & al 2hs TS ¢ aia My M, o€ g il

(1) M, ¥ M, T =0 e s1ferer o @ 8|

(2) M, M, T T F FHH @ @R

() M, 3 M, S 9T SE Y Fe & T B
(4) M, 3 M, W HLa =940 g 2|
[Question ID = 78][Question Description = S24_Science_Q078]

1. 1 [Option ID = 309]

2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19)
A balloon is placed on the mouth of a plastic bottle. The bottle is placed in hot water (step-A) and
then placed in cold water (step-B). What will happen to the balloon ?

(1) Step A-deflates; Step B-Inflates
(2) Step A-deflates; Step B-deflates
(3) Step A-Inflates; Step B-deflates
(4) Step A-Inflates; Step B-Inflates

Tordl wfezer =t didel 9@ 92 U el W@l T | Saa T 5 H W@l 18 (F0-A) 3R R 38 5 |
TET 7 (TSU1-B) T 31 A BRI 7

(1) =R A-fo=reh Sem; =701 B-Fel SIQ

(2). =0T AT S =07 B-fo=res smem

(3) =IO A-Ped ST =0 B-f=eR S

(4) =T AW SO, =R B-FE ST

1[Q;.n[e;titgn I|I[)) =371§]][Question Description = S24_Science_Q079]

2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



20)  What should be the characteristics of a fuse ?
(1) Thin wire, low resistivity, low melting point
(2) Thick wire, low resistivity, high melting point
(3) Thin wire, high resistivity, low melting point
(4) Thick wire, high resistivity, low melting point

WIS i faseard e gt e 2

(1) aen ar, F=1 gfadiesea, = 1w
(2)

(3) Udel AR, 3= AfciEedl, e Mo
(4)

[Question ID = 80][Question Description = $24_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)

A teacher discussed the concept of corrosion thoroughly in the class. She then involved students in
laboratory work on this topic. Students worked in groups to check that iron articles when exposed

to moist air get rusted. Which of the following is NOT true regarding the laboratory task described
above ?

(1) Itis characterised as deductive laboratory work

(2) Students have some idea about what they are expected to find
(3) It helps to reinforce the concepts discussed in class
(4) It allows students to use observations to arrive at a generalization

e forferert 3 e § el YR 9 SaIN0l & S9edd R =4 i | 394 T faenfeldi i 59 fava 93 ygmmemen
o w1 e # wftfed R fenfeEr = g sitem % fo, F o # awgst % o g ¥ 9ud 9 o m
I 9 S O S0 5, 9E 4 e far

I9EieR SelfEd gErTen e % dey § frafafes 8 9 @ v 78 €2

(1) =8 Fmaregs wErmen & & &9 ° fafa fe mn &)

(2 foenfel =1 o fa=ar @ € i 378 @0 3+ &t o1dan 2

(3) =% e H =l (U T Hyeadi i Yo L H HEHH ¢ |

(4) % faenferdi it U ST a6 Tga § STaaishl o SUANT @i STHfd <ar g

1[Q1u?cs);it?or; ||[D> =3t;: ]][Question Description = $24_Science_Q081]

2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



Which of the following is/are true about scientific theories ?
(A) Scientific theories give a systematic explanation of natural phenomena.

(B) Scientific theories make huge demands on our imagination for their understanding.

(C) Scientific theories should predict new phenomena which are verifiable by experimentation.
(D) Scientific theories are always tentative.

(1) (A), (©), and (D)

(2 (B) (©) and (D )

(3)  (A) (B), (©) and (D)

(4 (A) (B) and (D)

et fagidl & ded ¥ frefafes § @ s o= €72
(A) Sfer fagia urpfas aReeisli @1 ve srafm =amen 2 €

(B) aier forgla wagm % o gnrd srea W agd sifuss SR uedl & |

(C) e fagrdi =t =2 uftsresii 1 yafqam e =nfen foeeht 9fte war g0 @ w6 |
(D) d=ifes fagia weer srfam €1
(
(
(c

1) (A) (C) IR (D)

2) (B), (C) ¥R (D)
3)  (A) (B), (O) ¥R (D)
(1) (A), (B) 3T (D)

[Question ID = 82][Question Description = $24_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]
23) Which of the following is a divergent question ?
(1) Explain how Carbon dioxide is able to confrol fires
(2) 1Is friction a friend or foe ?
(3) Why objects floating in fluids must have special shapes ?
(4) What will happen if we go on cutting trees ?

Trfafad 5 & =M tw ooE 9 @

(1)  guzrgd fo Fer SrsiaaEs o % 4 fEha & o €
(2) o U i E e 2

(3) =l H avdt aegel @i fafre snefa = g =nfen 2

(4) =0 2T AfE 79 U Hed Tl S 2

[Question ID = 83][Question Description = S24_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4[Option ID = 332]



24)

Consider the following excerpt :

“Suppose we wish to cool a room. Thermodynamics tells us that we need to spend extra energy to
do so. This extra energy is supplied by electricity which enables the air conditioner to cool the

room. Thermodynamics also governs the equilibrium of different phases of matter. Estimating
how much heat is evolved or absorbed in a chemical reaction such as photosynthesis requires
application of thermodynamics”.

Which of the following ideas about science is illustrated in the above excerpt ?

(1) Science is an interdisciplinary area of learning

(2) Science is a socio-cultural Endeavour

(3) Science is tentative in nature

(4) Science demands perseverance from its practitioners
Frefefad sgeo w famm wifs

T AU B9 Ush Y ol 381 HEA1 I@d & | HHEIIH B adrdl & for 28 Ud1 i o Tore sifafiea
Tl TH/T A I STEvAEN ¢ | 59 Afafie Fei i fogd gR STl i St € S HH I S HA
T HE VL &l TeTH F41G1 & | Ssmifafs qerd & fafus wawensti &1 grear &1 off FEfa s g0 g
Geru St et TramEter srfufsrar o frat e Scafsid =1 STeEviitd e, 39 oA § off Semiies!
% STIYENT i STEIHA
SR g § Trefafea § 8, foam & o fomn o s e mn 272
(1) foam aifimg 1 o fawgas &3
2) foam wfsies wrefas 38H 21
(3) faam wfa & amfoa &)
(4) Tom 197 srerasmwiel | gedn sTufem e

[Question ID = 84][Question Description = $24_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

—



2%) While introducing chemical reactions the teacher asked the following questions :
(*) What happens when you keep an iron nail in an moist area for some days ?
(*) What happens when you burn paper and wood ?
What objective does the teacher have in mind ?

A) To motivate students to participate in the process of learning.

B) To relate scientific concepts to student’s previous knowledge

C) To know students” alternative conceptions if any.

D) To enable students to understand the method of science.

1) (A), (B)and (D)

2) (A), () and (D)

3) (B), (O) and (D)
(A), (B) and (C)

TEmEfE SAfafsrsdi = gwafad Fd ge, fees 3 Fefafes o 1o -
(*) = B IS H A R Uk el Sl Fo fodl & Tolg Uk gl g &6 H @ 1 2
(*) 2@ E S qH FT ST SRSl STard @2

oo FOFg 5 # SETa B 7
(A) Taenferi = sifermm =6t gfehan § 9 o & fom Tia e
(B) Efeh Swerdi i fornfelEi o gd 919 ¥ S
(C) Tomnfefai =1 afg % Ssfousr sEumRom €, df 3= ST
(D) faenfei=l =i fa=ma o gsrH ol AR § 98 F9M1 |
(1) (A), (B) $T (D)
(2 (A) (O3 D)
(3) (B), (C) ¥R (D)
(4 (A) (B) 3R (©)

[Question ID = 85][Question Description = S24_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)



Read the statements below and choose the correct option :

S

D
(2)
3)
4)

1t
82:

Discussing controversial scientific issues promotes argumentation and learning.
Argumentation helps in building explanations, models and theories in science that promote
learning,

Both §; and S, are correct and S, is the correct explanation for S,

Both §; and S, are true but S, is not the correct explanation for S,

S, is true but S, is false

S, is false but S, is true

== feu U syl @i ufew SR wel fashed =1 999 &I -

foanfea Ssfer fawall W fte=t w5 o oo o) afrm 1 grefed war e |

e faae fomm H samenst, ufaedi oiR fasidl % fmin § gewm s € faud sifim =1 b
frreren B

S, 3T S, 3Fl W & $iR S, #I S, Wl e B

S, SRS, TH | & fabg S, &I S, WEl =A@ 7 ¢

S, &ed & T S, o8 21

S, o9 € fh S, 5 2|

[Question ID = 86][Question Description = S24_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)

During a discussion on planets, a teacher asked, “what would happen if there is no moon in the
sky?”. After discussing students’ responses, The teacher asked students to collect more information
related to the question and justify their answers through a group project work.

What could be the objectives of the above task ?

(A)

Express to students that their ideas are valued.
Guide students to appreciate multiple perspectives.
Emphasize the importance of tentativeness of science to students.

Encourage students to frame questions and browse variety of reading materials.
(B), (C) and (D)



T8 W ==l FT g, U e A gm, ¢ g At o H wgm a2 ot & s W ==t
FH & R, s 7 fomf o g § gefug o eifus el T 6 IR 908y $1E 5/
379 ST okl FHIM0MG A & foag &=

IqLEd 1 % ] T899 B HRd © 7
(A) Taenfer =i =g sifyeaaa & o 39 faar #ee w@d 2|

(B) g gftesniull @l Wle %A & feru fomnfaai =1 aniee &

(C) Taam =t swfawan o Hee =l famnfei =1 quem

(D) fanfefi =61 wea oM iR fafvr= wiga Wl &1 @e & fau diedTied e |
(1) (B), (C) ¥R (D)

(2 (A), (B) 3R (C)

(3) (A), (B) i (D)

(4)  (A) (© 3R (D)

[Question ID = 87][Question Description = $24_Science_Q087]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

28) Read the statements below and choose the correct option :
(A) : Aluminum is a good conductor of electricity.
(B) : Like charges repel and unlike charges attract each other.
(1) (A) - Inference; (B) - Observation

(2) (A) - Observation; (B) - Inference

(3) (A) - Inference; (B) - Inference

(4) (A) - Observation; (B) - Observation

== fore e =l 1ien $iR w2 fammed o1 T wifsi |

(A) : Terfafe faem =1 g 2

(B) : FGYI ST UK EL 1 Wiahiia IR TG ST U G 1 SH{Hq Hd 8|
(1) (A) - Toehe; (B) - STt

(2) (A) - FHEEFT; (B) - Freard

(3) (A) - =, (B) - Freapd

(4) (A) - SAFARA; (B) - SEATHA

[Question ID = 88][Question Description = $24_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)



Read the following excerpt from NCERT VIII Science textbook.

Children along with Prof. Ahmad and Madhaviji enter the biosphere reserve area. Madhavji explains
that biosphere reserves are the areas meant for conservation of biodiversity. Ahmad explains that
the destruction of habitat, increasing population and introduction of new species may affect natural
habitat of endemic species.

Which of the following objectives of science education does the above excerpt highlight ?
Appreciate issues at the interface of science, society & technology.
B) Understand methods of generation of scientific knowledge.

C) Raise environmental concerns.

(A)
(
(
(
(
(
(
(

D) Nurture the aesthetic sense and creativity in science and technology.
1) (A)and (B)
2) (B) and (C)
3) (A) and (C)
4) (C) and (D)

. 4. g e 2. 1 fa9m 1 VI e & seagss § Fefafed see gfeu :

= A W-3T8HT S Wiugs & Wy Seved S &= # vew o | muEs T w9z F Saved d@ifed
&5 e fafauael & e o fau a9 €1 seHe 3 gugm Tk e o1 7% &4, sHEen § gfg ok =12
yanfadi =1 wenfaes wenfadi & wipfas SEm® Sl afad &t T 7

Frafafes § faam foen & g 3tva W S Sge felm s@ 2 w1 272
(A) ToaH, HHE Ud @hAlehl < SHauge 9 forsai o1 S|

(B) &R 1 i Ieaft % WohHI hl HHZ

(C) TaTEo Fwar=¢t TEl Tl IBH

(D) Toam w8 deFiRt § Higdwas Foe iR s #1 tifta wr
(

(

(

1) (A) #R(B)
2) (B) @R ()
3) (A)3R(©)
(4) (O ¥R (D)
1[.Q:1?;|t3it?or:] |||[)) ==385‘;|[Question Description = $S24_Science_Q089]

2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)



Read the following excerpt :

Reflection and refraction are the oldest phenomena to us. Much of the discussion on nature of light
during renaissance centered around these phenomena. In the 17th century, Huygens proposed
that light consists of waves. Later, Newton proposed that light is composed of
particles or corpuscles.

Which of the following aspects of nature of science does the above excerpt illustrate ?

(A) Science is sodially and culturally embedded

(B) Science is advanced through creativity and imagination of scientists
(C) Science is tentative in nature

(D) Science progresses through a fixed scientific method

(1) (A) and (B)

(2) (B)and (C)

(3) (B) and (D)

(4) (O and (D)

A fon Tads 2R eTvads g aftaeATe €1 AaSReT o SR WIS i Wehfa & fawg w == 5= 9
gfeeTedl W Hfed ot 117 = et 8§, Huygen = Yaifad foran o yepmel e § &1 8 1 deavam, =424 A
e foman o wemrer ol =1 et § 541 81

frafafed § 9 fagm &t v % S5 | Teaei #1 Swie 35e T4 @/ e ?

A) fogm, o oit dwpfa # wfawenfia €1
SRl i gerar SR ea 9 fage w1 wfa S §)
foam wepfa @ oifam €1

o =1 Ita we fafvaa St Bt & onem ™ 2 £

(A) ¥ (B)
(B) 3R (C)
(B) ¥R (D)
(C) 3R (D)

[Question ID = 90][Question Description = S24_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P2_CTET

1)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

el S €, T YRR & Tereey aftrsh 1 o 2 8 9 TRy vk & fe e ¥ d
AT SMEF €| TGN i dfedE gig i sE i swdt Wi #1 eyl % for Iemr ik
AT TR I Ifd F ToTe Fgar SHEiwo SH A3 ardeE 1§ § st yafad B R
Ul sreeen § AreR 1 ¥E @1 W9 Uk G0 99 791 8 | 371 SHifere ygum =1 arg 1 @,
STE 1 &1 A2 A W, U A snefaes T & w9 4 1 © it o g ¥ o o
IEHed | T9 9TY ok ¥, 9 yefid S ST @ ¥ iR a7 feufa e wwa #it e afess afveia
<l H wgwon = e faee gl S T € | A= o6 e aoh e € fo afewr €1 3% 3 agim
% U |9 1 afe ot & @ Fef e men o et <veR § e gest 5 At = feR
Wt Siar & @A Arg 6l @ IO, getaal o Tl g9 i, ol o Ssfe 6 dl g9 & 6
I3 B

TN & SR W @ R F fau meeTs §
(1) T3 ey
(2) USSR
(3) s WET
(4) IS T

[Question ID = 181][Question Description = S24_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



feu T =Ny @ earegEe ufen 3 U T Uy @ faeew g

e S 7, Ty I € ey iesn 1 o g € @i ey i % for arden i ¥ 2
ST SMEYa® § | SAEEn & dfeqd gfg i Swar 1 agdt "W 6t egfd % fau s it
AETIF FEel & gfd & fore agan i S A e 1 W 9 Al gafaa g
UGl eTaeen 5 SmeRvl 1 § o @Y UF 909 o9 T €| 3T gHifery vguv 9% 9 #1 8,
e o1 2 31T eaf =, e T emefes T & Y § " € it o anarenm # iR ferm
IEHed § €9 99 oid €, 98 Tefid gar S W@ § IR g frafs e vra w76 dfew sfume
St # weu =1 e faene St =1 @ ¥ | Afen o A == @ FA © T ofeae 81w 31 ugwm
o ORI T B Tfe vt & el FEfa e d o At <vrent § a1 gt wae ot @ Tt
oft Sfiaeml % =Y 4rg TE @ arwl, Sredfeal e T o qndd, qroft F Sfter o geE g e
I3 B

SIS W T WAE BE ATl G HEE ©

(1) ¥ =i st @9 aen gid

(2) SEEEn g ARt § 3

(3)  UUSFIR ki =gt 9T qen gfd

(4) SwHEn H Hifag g oferiem | &g gfg

[Question ID = 182][Question Description = S24_Hindi Content/Pedagogy Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



feu T =Ny @ earegEe ufen 3 U T Uy @ faeew g

e S 7, Ty I € ey iesn 1 o g § @i e i 3 o Srden 6 ¥ 2
ST SMEYIH & | TAGEn & dfead gfg i Swar 1 agdt " ot egfd & fa s it
ST Fegat w1 g & fau sear il S 7 ardEo 1 W 9 siftes gofaa €
Tt Sreeen H SIaTeRv 1 G @ WY Uh 99 99 T | 3 SHifeTe ggue 9w arg @6 @,
e o1 2 31T eaf =, e T emefes T & Y § " € it o anarenm # iR ferm
IFHed H B9 9 o €, 9% Uit g S @ ' ofR e fraft hew v it 98 afew sifueerar
it # weu =1 g faehe St =1 @ ¥ | A o == @ FA © T ofeae 81w 31 ugwm
o FOMRT T R Tfe vivg g el FEfa e e o At gvrent § T gt wae ot o Tt
oft Siaeml 3 1= 4rg Te @ arwl, aedfeal e T oY g, qroft & Sfter o 9vE 8@ e
I3 8

TN % SATER SYFIE TuEn § :
(1) =HHSE 95

(2) TSR H I

(3) SHEenH gfg

(4) TAEA FHT

[Question ID = 183][Question Description = S24_Hindi Content/Pedagogy Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

el S €, T YRR & Tereey aftrsh 1 o 2 8 9 TRy vk & fe e ¥ d
AT SMEF €| TGN i dfedE gig i sE i swdt Wi #1 eyl % for Iemr ik
AT FEG i gfd o faw s@an S S 3 AT s G 9§ st gefad fmm
U 27ee H SaeRy 1 YG @ SE U 999 o4 T8 | S SHifery ggu 9R 9y o6 g,
STE 1 &1 A2 A W, U A snefaes T & w9 4 1 © it o g ¥ o o
gEHed | T9 9TY o ¥, 9 yeftd S ST @ ¥ iR a7 feufa et vwa #it e afess afueia
<l H wgwon = e foee gl S T @ | AR o o e ao e € fo afewr €1 3% g8 agi
% O WY Rt Afe oty & T et e @ o aer gt § =g gest 1w o o e
Wt Siar & @A Arg 6l @ IO, getaal o Tl g9 i, ol o Ssfe 6 dl g9 & 6
I3 B

TEUY T HAES B ;
(1) aa wRd |
(2) had TREE 9 H
(3) HER F Afeha <9 H
(4) HERF FDE A
[Question ID = 184][Question Description = S24_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



faw TTT TNy i eargEe ufen st UB e uv @ fasey g

el S €, T YR & Tey afrsh w1 o 2l 8 9 TRy vk & fa e a5 ¥ d
AT MEF © | S 1 dfedE gig i SE i swdt Wi #1 eyl & o demw ik
AT AEgel st gfd o fore s@ar sieiriewo S 3 e s G 9 sifies genfead fmm
U 2reee H SareRvl 1 YG @ W U 999 o4 T E | S SHifery ggu 9e 9y w6 g,
ST 1 &1 A A W, U T snefaes T & Y § T © it o g ok o
IEHed | T9 9TY ok ¥, 9 yeftd S ST @ & iR a7 feufa et vwa #it e afess afueia
<l H wgwn = e foee gl S T € | A= 6 o e ao e € fo afewr €1 3% 3 agim
% O WY Rt Afe oty & T et e @ o aer gt § =g gest 1w o o e
ot Sl o @H 4rg el @ IO, aetadi o Al 99 9T, ol o Sife 6 ol g9 @ 6
I3

Terter ¥ SifeEr s wguw i gor fREE w2

(1) o |9 d

(2) TrfEH

3) fo= 9

(4) SR H
[Question ID = 185][Question Description = S24_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



faw TTT TNy i eargEe ufen st UB e uv @ fasey g

el S €, T YR & Tey afrsh w1 o 2l 8 9 TRy vk & fa e a5 ¥ d
AT MEF © | S 1 dfedE gig i SE i swdt Wi #1 eyl & o demw ik
AT AEgel st gfd o fore s@ar sieiriewo S 3 e s G 9 sifies genfead fmm
U 2reee H SaeRvl 1 YG @ W U 999 o4 T e | S SHifery ggu 9e arg o6 g,
ST 1 &1 A A W, U T snefaes T & Y § T © it o g ok o
IEHed | T9 9TY ok ¥, 9 yeftd S ST @ & iR a7 feufa et vwa #it e afess afueia
<l H wgwn = e foee gl S T € | A= 6 o e ao e € fo afewr €1 3% 3 agim
% O WY Rt Afe oty & T et e @ o aer gt § =g gest 1w o o e
ot Sl o @H 4rg el @ IO, aetadi o Al 99 9T, ol o Sife 6 ol g9 @ 6
I3

‘T ATt SR B A8 et T o1 s feRelt oft Siraem % T8 A T8 1 e o]
Clezieals ch &
M el 5l H -
(1) gt § 798 1 Afaed SET &1 S
(2) gEt § Sgel o At gETE @ S
(3) gt § 9t UK % S o Al gET & S
(4) I F ARKE T HE F Tel S
1[.Q1ljt[e;;it?or:1 |Ig =714 ?]6][Question Description = $24_Hindi Content/Pedagogy_Q096]
2. 2 [Option D - 742]
3. 3 [Option I - 743]

4. 4 [Option ID = 744]

7)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

el S €, T YRR & Tereey aftrsh 1 o 2 8 9 TRy vk & fe e ¥ d
AT SMEF €| TGN i dfedE gig i sE i swdt Wi #1 eyl % for Iemr ik
AT FEG i gfd o faw s@an S S 3 AT s G 9§ st gefad fmm
U 27ee H SaeRy 1 YG @ SE U 999 o4 T8 | S SHifery ggu 9R 9y o6 g,
STE 1 &1 A2 A W, U A snefaes T & w9 4 1 © it o g ¥ o o
gEHed | T9 9TY o ¥, 9 yeftd S ST @ ¥ iR a7 feufa et vwa #it e afess afueia
<l H wgwon = e foee gl S T @ | AR o o e ao e € fo afewr €1 3% g8 agi
% O WY Rt Afe oty & T et e @ o aer gt § =g gest 1w o o e
ot S 6 @H 4rg 6l @ I, getaal o el 99 T, ol o Sfed 6 dl g9 &
I3 B

Treifa’ e W T © -

1 4

(2) P

(3) @

(4) =d
[Question ID = 187][Question Description = S24_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]

2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

el S €, T YRR & Tereey aftrsh 1 o 2 8 9 TRy vk & fe e ¥ d
AT MEF © | SN i AfedE gig i SE i swdt Wi #1 eyl & o Iemr ik
AT AEgel st gfd o fore s@ar sieiriewo S 3 e s G 9 sifies genfead fmm
U 2reee H SaeRvl 1 YG @ W U 999 o4 T e | S SHifery ggu 9e arg o6 g,
ST 1 &1 A A W, U T snefaes T & Y § T © it o g ok o
IEHed | T9 9TY ok ¥, 9 yeftd S ST @ & iR a7 feufa et vwa #it e afess afueia
<l H wgwn = e foee gl S T € | A= 6 o e ao e € fo afewr €1 3% 3 agim
% O WY Rt Afe oty & T et e @ o aer gt § =g gest 1w o o e
ot S 6 @H 4rg 6l @ I, getaal o el 99 T, ol o Sfed 6 dl g9 &
I3 B

[Question ID = 188][Question Description = S24_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



faw TTT TNy i eargEe ufen st UB e uv @ fasey g

el S €, T YR & Tey afrsh w1 o 2l 8 9 TRy vk & fa e a5 ¥ d
AT MEF © | SN i AfedE gig i SE i swdt Wi #1 eyl & o Iemr ik
AT AEgel st gfd o fore s@ar sieiriewo S 3 e s G 9 sifies genfead fmm
U 2reee H SaeRvl 1 YG @ W U 999 o4 T e | S SHifery ggu 9e arg o6 g,
ST 1 &1 A A W, U T snefaes T & Y § T © it o g ok o
IEHed | T9 9TY ok ¥, 9 yeftd S ST @ & iR a7 feufa et vwa #it e afess afueia
<l H wgwn = e foee gl S T € | A= 6 o e ao e € fo afewr €1 3% 3 agim
% U |9 1 afe ot & @ Fef e e o o et e § e gest B At e feR
ot Sl o @H 4rg el @ IO, aetadi o Al 99 9T, ol o Sife 6 ol g9 @ 6
I3

HHE o T oes 7
(1) emyfre

(2) SEVEH

(3) =&

(4) @A

[Question ID = 189][Question Description = S24_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET
fau o w1ty Wt saFYde ufen 3t Freafafaa uyT = fawme g

THIITG 9T 3181 Tel I8,
Tq1-5g H 5l g3 |

1)

gl TRl qY-ae F TR,
A | =Sl gl |

TUF! BIS Fal 98 Tedl,

farerg-=izar gel |

I I ST Fak |
Ffaar § forment a1 i 78 22
(1) @il % T &I

(2) YRA % HS H T I
(3) -l o IURTH i
(4) TA-€< % ONTE I

[Question ID = 190][Question Description = S24_Hindi Content/Pedagogy_Q100]



1
2
3.
4

2)

. 1 [Option ID = 757]
. 2 [Option ID = 758]
3 [Option ID = 759]
. 4 [Option ID = 760]

faw @ wTeTyT T eaEe ufen 3itt Freafatee wyw = fawe i)
TR IX 37 TRl T,

g5 H 5l g1 |

gl T 9Y-9d F T,

SIeH-vIf 9 = gal |

THF! Bl Fal a8 T,
farsra-divan @&t |
A 1 HT Fel |
A o Fie 1 Ha o e @ -
(1)  fors/a men
(2) TS fead
(3) =ifd =
(4) T

[Question ID = 191][Question Description = S24_Hindi Content/Pedagogy Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

3)

few @ sTeTyT ST SAEYEe ufen 3itt Fefaiea wyT @ fawea i)
TR T T Al T,

9158 H el gl |

Tl T Y- &% I,

-k § =gl gl |
THH| Bl Fal ae T,
fersra—diTan =&t |
I 1 el el |
AT shT T Wit & fere form ol =61 sroem & fere Uft o 22
(1) I8
(2) stfes
(3) wifeR-wasH
(4) SARH-HHYU]

[Question ID = 192][Question Description = S24_Hindi Content/Pedagogy Q102]



1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

Y fau T wreaty Y eavgdes ufen s Frefafae v e g
TR T S TE T,
-5 H 5l g1 |
gl T 9Y-9d F T,
SIeH-vIf 9 = gal |
U DI Fal a8 e,

forsra—fiven =&t |
I o1 FHST Fal |
‘ga-<g’ & W W T eTr deha foRan T §2
(1) SR &8
(2) foerEpyel =
(3) T M
(4) =

[Question ID = 193][Question Description = S24_Hindi Content/Pedagogy Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

Y fau T wTeAiy T S ufeu it FrefefEs wew @ faewer T
TERTIIG WY 7] el I,
g91-88 H Sg g3l |
Tl T Y- &% I,

-k § =gl gl |
THE! BIE Fel a8 Hedl,
fersrg =i 3 |
I 1 el el |

T  fim o & -

(1)

(2) =

(3) e

(4) HRd

[Question ID = 194][Question Description = S24_Hindi Content/Pedagogy_Q104]



1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

¥ fau T weaiet HY sagdes ufgu s Frefafe v @ faewer T
THIITG I 3781 Tel 7%,
-5 H 5l g1 |
el TRl 99-99 & I,
SIeH-WIf 9 =2 gal |
THF! SIS Fal 9 e,
ferera—=izar gel |

WA 1 el Hak |
“foer’ vreg o1 faet™ € -
(1) oS
(2) ®EX
(3) 3EhId
(4) =

[Question ID = 195][Question Description = S24_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET
1)
Gften a7t e H 99 feofd W enuiia aretas nfafafiat semd & S i % e
sudl § Hethd €1 = fopm fomm fafy & st o @ 22
(1) g=q uifve fafy
(2) =R AR fafy
() GEITeTs T ferero
(4) TEARHS HiEH 3UTH
[Question ID = 196][Question Description = S24_Hindi Content/Pedagogy_Q106]
2. 2 option D - 782

3. 3 [Option ID = 783]
4. 4 [Option ID = 784]

2)



werel fafy & deiw § SE-91 wee TE 72

1) wege Tafer = sty faenfefdi =i e feafesi § s v § oo e & @

2) v faft o1 SR faenfaf=i =it shaa @men | s I 6 fo AR S R

3) vel fafy = ey famnfeld =1 Sfer feafedl § amn v & weg e

4)  voget fafy =1 SEva famnfeli =il orad |t o1 SAaTE e T SR o Wes YR %
W H Heg HE §

1[.Q:Jf;:)it?or:] IB =718 :]7][Question Description = $24_Hindi Content/Pedagogy_Q107]

2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)

aatal s Toranfef=i @ eRfyes waft (Scaf) @R qesdl = 2k el @ 8, 39 & § 98 596
TR Te1 =1 ToTed Y W 82
(1) eafq fasm smrEsd

(2) MRl fom SrTER

3) Toa fagm swreswa

(4) AR & Wid TSR]

[Question ID = 198][Question Description = S24_Hindi Content/Pedagogy Q108]

2. 2 [optton 1p - 75}

3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

Y o i wE o A S S S 22
(1) HEd 9 9 ved

(2) SR Y YA
(3) feble &wEm
(4) FeFH HEI

[Question ID = 199][Question Description = S24_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

Y frfefad § & feas s wied G @ sedl-siedt fret fafere gee 3 fo e S £2
(1) W& dR W

(2) ST geA
(3) fe=mifen
4) FEEG HEI

[Question ID = 200][Question Description = S24_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]



2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6)

Titer 7o ferenfef=i < qien st Frs1 S @ ¥ | 9% 3 Uk A1 <l @ 3 IHH U s e =k
TEifehd L <l €1 Igfamedd weq o AeAH H 98 @ifhd ves & HHiweY 3 ool faskey i
I o fore et 81 Tiiar oo 3 fRE SushieTer Sl dien o W E?

(1) Zau

2) 9

(3) W= 9ER
(4) AR

[Question ID = 201][Question Description = S24_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

" om e FerenfeRd 9 v war #) wien S ARt #1 Y P e A
(1) Torm ferel Heel & wr=gi < @1ed g
(2) @ H TRl wsg i W@ifehd L 39 FEAY] g
(3) T H Tl v1se =1 TEifeha &L S8 faemedt ga
(4) T8 9 TP X Y, HeH H e Y @il
1[Q:Jf(s)ti;)n |I|; =820(;]2][Question Description = $24_Hindi Content/Pedagogy_Q112]
2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

8)
it o Forenfofel 1 feretforfian o= o & -
“oer H e HAR F9 W g Hiewdl @i | H SEdt @t o aifeer gef w

A el T SR e H oo
= faenfefi =t waifus swge w=dl & wreem ¥ o e st gfd % % fog wed T
T = =1 gfd & fere <= & fanfef=i = @2 & & 2
(1) T =1 Ioet Faifs ITE W ST 2R
(2)  hael = & T o geE g
(3) T o AR fa=Ir =Rl HHEAl 2
(4) WIS I fawges &1 qugE e
1[Q:Jt[agti:n IB =820(;]3][Question Description = $24_Hindi Content/Pedagogy_Q113]
2. 2 [Option ID - 810]

3. 3 [Option ID = 811]
4. 4 [Option ID = 812]



9) =
el fafy o syereor forg 9 O gerd =it €2
(1) ST aifsh |
(2) FrmEeTE a9
(3) o =men %
(4) FEm s d
[Question ID = 204][Question Description = S24_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]

3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

" i feste H e s-eng § fRgd defud ¥
(1) & ufspamd foma wmfasres o) e favrasg &1 == fm s
2) 9 fagr ford foraag &1 9aeH 9 %a fuifa fFa s @
(3) I TEGT HI I AR
(4) o foeror =t fafore wfsransdi =1 s&aamer &

[Question ID = 205][Question Description = S24_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11) = _ ;
A () 3R Iifer foraedi o e ye st s forep faft - 22
(1) weae fafy
(2) T Wifass gfafe
(3) feafqusr surmH
(4) HEARHS SINH
[Question ID = 206][Question Description = S24_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

" g 9w w5 9RAY R T T8 e Tt

(1) = STgEd

(2) HeirE g wiEE

(3) T

(4) T
[Question ID = 207][Question Description = S24_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13)



Tefefad | | fereent Icafa am &0 gefd iR wmitses Heyl § qreg 9t ot yftes = ‘fau
fagm' A gE 72

(1) T=ed gt snenfia sy

(2)  HER AT

3) fawras snenfia fadw

(4) TR (FSEEdiTeE)

[Question ID = 208][Question Description = S24_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

14)
e o fafas g S g6l A ol s=n0 § & = 96 €, dfer s YeRr, SR i v
%H H ol i 2 €, 9% e &9 H S S § 2

(1) et

(2) SR AR
(3) TUEw

(4) fafere vl

[Question ID = 209][Question Description = S24_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]

15) 5o
‘a1t faftr’ et T e | S ST & 7
(1) g4 viiyer fafe
(2) weaa fafer
(3) UUHEIERIY (HSRrdifeEn)
(4)  ww slifaes gfafman
[Question ID = 210][Question Description = S24_Hindi Content/Pedagogy_Q120]
1.1 [Option ID = 837]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET

1)



Read the passage given below and answer the question that follow
1.

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word “predominantly” (para 1) means :

(1)

(
(
(

2
3
-4

)
)
)

dominated by
all pervading
surrounded by
isolated

[Question ID = 241][Question Description = S24_English Content/Pedagogy_Q121]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]

2)



Read the passage given below and answer the question that follow

§i

2

(23

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple,Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word ‘amicably” as used in (para 1) means :

(1)
(2)
(3)
(4)

sincerely
generously
wisely
harmoniously

[Question ID = 242][Question Description = S24_English Content/Pedagogy_Q122]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]

3)



Read the passage given below and answer the question that follow

%

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers.  had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The fact that people came with water bowls to his father for his blessings show that he

(1)
(2)
(3)
(4)

a spiritual leader.

a powerful man.

a religious fanatic.

deeply respected and revered.

[Question ID = 243][Question Description = S24_English Content/Pedagogy_Q123]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]

4)



Read the passage given below and answer the question that follow
%

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers.  had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,

the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

Writer’s father was a secular man as :

(
(
(
(

1)

2)
3)
)

he was the neighbor of a Hindu priest.

he was approached by people of all religions for prayers for those sick and suffering.
he was a pious Muslim and never forgot his prayers.

he would always talk about spirituality.

[Question ID = 244][Question Description = S24_English Content/Pedagogy_Q124]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]

5)



Read the passage given below and answer the question that follow

1. Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

2. When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,

the benevolent and merciful.

The high priest of Rameshwaram temple,Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

4, When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

(]

According to father,prayers helped one to :

(1) get whatever one desired

(2) connect with other people around oneself
(3) achieve greatness

(4) become successful and wealthy

[Question ID = 245][Question Description = S24_English Content/Pedagogy_Q125]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]

6)



Read the passage given below and answer the question that follow
%

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers.  had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,

the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word “transcend’ (para 4) means :

(
(
(
(

1)

2)
3)
)

to go beyond
to rise

to move away
to pass by

[Question ID = 246][Question Description = S24_English Content/Pedagogy_Q126]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4. 4 [Option ID = 984]

7)



Read the passage given below and answer the question that follow
%

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers.  had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,

the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

According to writer’s father prayers were a way of promoting :

(
(
(
(

1)

2)
3)
)

social norms

harmony and equality
barriers and class distinction
religious disharmony

[Question ID = 247][Question Description = S24_English Content/Pedagogy_Q127]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]
3. 3 [Option ID = 987]
4. 4 [Option ID = 988]

8)



Read the passage given below and answer the question that follow

= B

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers.  had not the faintest

idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

Which part of the following sentence contains an error ?

Kalam’'s father tellhim  about the power of prayer
(A) ®  (© (D)

(1) option (A)

(2) option (B)

(3) option (C)

(4) option (D)

[Question ID = 248][Question Description = S24_English Content/Pedagogy_Q128]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

Topic:- ENG_Q129-135_L2_P2_CTET

1)



Read the passage given below and answer the question that follow :

1.

(%]

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waifed for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, [ also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerfu’] thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The change that came over the writer while writing the thank you notes was that she
started : '

(1)
(2)
(3)
(4)

getting new ideas

becoming more aware of the kind behaviour of people
becoming a kinder person

learning new ways of communicating with people

[Question ID = 250][Question Description = S24_English Content/Pedagogy_Q129]
1. 1 [Option ID = 997]
2. 2 [Option ID = 998]
3. 3 [Option ID = 999]
4. 4 [Option ID = 1000]

2)



Read the passage given below and answer the question that follow :
1.

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

She appreciated the bus driver for waiting for her to :
(1)

(
(
(

2
3
4

)
)
)

cross the road
climb onto the bus
drive past

buy her groceries

[Question ID = 251][Question Description = S24_English Content/Pedagogy_Q130]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]

3)



Read the passage given below and answer the question that follow :
1.

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental

dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The cashier at the supermarket ran after her because she had :

(1)

(
(
(

2
3
4

)
)
)

not paid him.

not taken the change.

lifted some objects from his shop.
forgotten to pick up her bag of groceries.

[Question ID = 252][Question Description = S24_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]

4)



Read the passage given below and answer the question that follow :

=18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

Pete was :

(1)

the bus driver
the grocer

a neighbour
a friend

[Question ID = 253][Question Description = S24_English Content/Pedagogy_Q132]
1. 1 [Option ID = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]

5)



Read the passage given below and answer the question that follow :
=18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

I need to acknowledge Louise for “hours of hers’. This refers to the hours :

(1)
(2)
(3)

Spent by Louise to travel to the writer’s house.
Louise had spent planning the menu for her.
Louise had spent cooking the dishes for her.
Louise had spent thinking of her.

[Question ID = 254][Question Description = S24_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]

6)



Read the passage given below and answer the question that follow :

=18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

Writing notes to family and friends changed a lot of things for the writer by :

(1)
(2)
(3)

making the bonds stronger.

making her appreciate others and be appreciated by them.
making her love everyone around her.

making her compassionate.

[Question ID = 255][Question Description = S24_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]

7)



Read the passage given below and answer the question that follow :

1.  After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

2. On the day I delivered my thank you note to this cashier at the supermarkef, my
mother-in-law,Louise dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

3. Simjlarly in the ensuing months, 1 wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The driver waited while I bolted down the street. The underlined word in this sentence is
an example of :

(I) preposition

(2) pronoun

(3) conjuction

(4) wverb

[Question ID = 256][Question Description = S24_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

Topic:- ENG_Q136-150_L2_P2_CTET

K is based on the way children learn languages.

(1) Grammar Translation
2 Communicative Language teachin
guag 8

(3)  Structural approach

(4)  Role playing method
[Question ID = 257][Question Description = S24_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]

3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

2 : : s e
) is an important early reading skill in all students.

N =
e g

Phonological awareness
Morphological awareness
Graphological awareness

P e T e e T
=
e e

Grammar awareness



[Question ID = 258][Question Description = S24_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]

3)
Before beginning a language lesson Nidhi discusses the meanings and contexts of the
new words that the students would encounter in the text. What is Nidhi doing ?
(1) She is creating a scaffold so that her students understand the lesson better.
(2)  She is creating fear in students so that they understand the seriousness of the topic
for exams.
(3) She is creating a sense of ease so that students know this is not an important aspect.

(4) She is creating a belief so that students feel that only word meanings are important
in the lesson.
[Question ID = 259][Question Description = S24_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]

3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

4)
Parvatiis calculating the discrimination level of the test questions. In one of her questions
she notices the discrimination level has a value of 18%. What should Parvati do to the
item ?
(1) The item should be kept in the test
( The item should be discarded from the test

2)
(3) The item is moderately discriminating for the test
(4)

[Question ID = 260][Question Description = S24_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

The item is a bad quesl:ian for the test

5)
refers to theories about the nature of language and language learning that
serves as a source of practice.
(1)  Approach
(2)  Method
(3) Instruction
(4) Technique
[Question ID = 261][Question Description = S24_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]

3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]



® In the Direct method, teachers are :

(1
2
(

allowed to use some elements of the native language

e )

not allowed to use any native language at all

3

) allowed to explain using native language

(4) not allowed to give grammar exercises
[Question ID = 262][Question Description = S24_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]

3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]

7)
During the WWII, method was used by the American soldiers to train their
soldiers in foreign languages.
(1) Communicative
(2) Audio - lingual
(3) Structural
(4) Direct
[Question ID = 263][Question Description = S24_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]

3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

8 B Yy -

" In a communicative language classroom emphasis is laid on :
(1
2

Creaﬁvi’ty and Fluency

T o

Fluency and Comprehensibility
) Creativity and Comprehensibility
(4) Fluency and Intonation

3

——

[Question ID = 264][Question Description = S24_English Content/Pedagogy_Q143]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

9 Emergent literacy deals with :

(1)  Reading and Writing in the early years of a student
(2) Reading and Writing in the middle school

(3) Reading and Writing in Senior School

(4) Reading and Writing in College

[Question ID = 265][Question Description = S24_English Content/Pedagogy_Q144]

1. 1 [Option ID = 1057]

2. 2 [Option ID = 1058]

3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

10)



In a classroom, a teacher is providing the students a text and asks them to make predictions
on the basis of pictures, headings and quotes of the text, then read the text to check those
predictions, then she instructs them to raise questions if they have any doubt and after
that clarifies those questions. In the end, the teacher allows them to summarize whatever
they have understood. Hence the teacher is applying

(1) Intensive Teaching

(2) Extensive Teaching
(3) Reciprocal Teaching
(4) Oriented Teaching

[Question ID = 266][Question Description = S24_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1061]
2. 2 [Option ID = 1062]
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]

" In ‘“Text Based Instruction’ text refers to

(1) printed material in extended form

(2) specifically written documents

(3) structured sequences of language used in specific contexts
(4) conversation in specific contexts

[Question ID = 267][Question Description = S24_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1065]
2. 2 [Option ID = 1066]
3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]

12)

In a language classroom, the teacher is distributing some pictures to the students and

asking them to describe the pictures in pair. Here, the whole scenario gives the impression
of

Skinner’s theory

(1)

(2) Chomsky’'s theory
(3) Krashen's theory
(4) Ashubell’s theory

[Question ID = 268][Question Description = S24_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1069]
2. 2 [Option ID = 1070]
3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]

" Culturally Responsive Teacher should NOT focus on :

(1) collaborative learning.

2 active engagement of learners.

de]

@
(3) providing instruction as per students learning style
(4) developing a sense of individualism.

[Question ID = 269][Question Description = S24_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]



4. 4 [Option ID = 1076]

14)

Consider the statements about Cooperative language learning groups as described by
Johnson et al (1994) :

(A)

(B)

o =
™ it ™ "

3
4
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Informal cooperative language learning groups are established for a specific task
and these groups last from one class period to several weeks

Formal groups last for few minutes to a class period and which aim to facilitate
learning during direct teaching

(A) is true but (B) is false.

(A) is false but (B) is true.

(A) & (B) both are true.

(A) & (B) both are false.

[Question ID = 270][Question Description = S24_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4. 4 [Option ID = 1080]

15)

Read the following statements about derivational morphemes and choose the correct

option :

(A) Normalize and courageous are derivational morphemes.

(R) Derivational morphemes are used to show some aspects of the grammatical function
of a word.

(1) (A) is wrong but (R) is right.

(2) (A) is right but (R) is wrong.

(3) (A) and (R) both are right and (R) is the explanation of (A).

(4) (A) and (R) both are wrong.

[Question ID = 271][Question Description = S24_English Content/Pedagogy_Q150]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]






